Chapter 20

Problem 20-1
Expected increase in operating income = $250,000

Problem 20-2
Expected increase in operating income = $48,000

Problem 20-3
Savings of $87,500 result if motors are bought from outside source.

Problem 20-4
Savings of $82,000 result if thermostats are manufactured internally.

Problem 20-5
Model 100 should be discontinued.

Problem 20-6
Income is maximized by producing vests and ropes, but no skis.

Problem 20-7
Assuming excess capacity, convert monitors to increase profit by $350,000.

Problem 20-8
$1,100,000 of incremental benefit results from selling to foreign buyer.

Problem 20-9
$1,000 incremental benefit results from further processing of Sea Powder.

